log[Empfindlichkeit] logLo = —0,35)—Us7
logVo = —0,35[iy—Uss7] logM o= —0,35Li\—Us4:]2
log =-0,350)-u ]%-1,17logLa= logLo+0,17
Ss logMVl2=log—0,13
Y uy=(A—550)/50
L:M:S Adaptation
=16:8:1 L&M: 557
7}50.04

0.

T
P -

»

La=0,13
/@ 0 Vg =-0,0
MO==02 Ma=-0,17
S0 =-".77 Sa =-2,8
570 495Ec  565EC

T

I
N
.S---‘\

log[Sattigung] logLo = —0,35u)~Us7d

logVo = —0,35[—Uss7]? logM o= —0,35[y—Us4:] 2

log =-0,35U)-u ]?-1,17logLa= logLo+0,17

log [Vo/Vo,LaVo,M Vo, Vo] logVa=logVio-0,13
Sa Ma La Séttigung V

L:M:S  Adaptation

=16:8:1 L&M: 557

=0.04

[ |
1570 495Zc  5B5EC

445 545

N
o T
]

500 600Ag/nm 700Ac 400
log[Empfindlichkeit] logLo = —0,35l)—Us7q
logVo = —0,350iy—Uss7]? logM o= —0,35[i\—Us4:]2
log =-0,350)-u ]%+0,02logLa= logLo+0,17
Jlog [Vo, La, M5, ] logV2=logM-—0,13
Sa uy=(A—550)/50
L:M:S Adaptation
=4:2:3 L&M: 557
55_:ly—0.04
2520021 5=0,13
N _Vgar000 vZ:—o,m
MG==0,02 M5=-0,17
So=-1,77 Sa =-17
70 495Ec  565EC

500 600Ag/nm 700Ac 400

log[Sattigung] logLo = —0,35u)~Us7d
logVo = —0,35[,—Uss7]? logV o= —0,35[y—Us4:] 2
log =-0,35U)-u ]%+0,02logLa= logLo+0,17
=logMV--0,13
Séttigung V
L:M:S Adaptation
=4:2:3 L&M: 557

1

600Ad/nm 700Ac 400




